



## Probabilistic Type 2 Poly-Bernoulli Polynomials

Si Hyeon Lee<sup>1,\*</sup>, Li Chen<sup>2</sup>, Wonjoo Kim<sup>3</sup>

<sup>1</sup> Kwangwoon University, Seoul 139-701, Republic of Korea

<sup>2</sup> School of Mathematics, Xi'an University of Finance and Economics, Xi'an 710100, China

<sup>3</sup> Department of Applied Mathematics, Kyunghee University, Seoul, Republic of Korea

**Abstract.** The main purpose of this article is to introduce the probabilistic type 2 poly-Bernoulli polynomials under the condition that  $Y$  is a random variable. This means that we will consider the probabilistic extension of the type 2 poly-Bernoulli polynomials and study to obtain some new results. Furthermore, we also define the probabilistic unipoly-Bernoulli polynomials and numbers attached to  $p$ , and investigate their interesting basic properties. Based on these new definition, we derive some meaningful formulae of probabilistic type 2 poly-Bernoulli polynomials and probabilistic unipoly-Bernoulli polynomials and numbers attached to  $p$ .

**2020 Mathematics Subject Classifications:** 11B68

**Key Words and Phrases:** Bernoulli polynomials, Stirling numbers, Probabilistic type 2 poly-Bernoulli polynomials, Probabilistic unipoly-Bernoulli polynomials.

### 1. Introduction

The Bernoulli polynomials are defined by

$$\frac{t}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}, \quad (\text{see}[1, 2, 7, 15, 27, 30], [12, 19, 20, 28]). \quad (1)$$

For  $k \in \mathbb{Z}$ , the polylogarithm function is defined by

$$Li_k(x) = \sum_{n=1}^{\infty} \frac{x^n}{n^k}, \quad (|x| < 1), \quad (\text{see}[4, 5, 24], [23]). \quad (2)$$

For  $k \in \mathbb{Z}$ , Kim defined the polyexponential function  $e_k(x)$ , which is given by

$$e_k(x) = \sum_{n=1}^{\infty} \frac{x^n}{(n-1)!n^k}, \quad (\text{see}[6]). \quad (3)$$

\*Corresponding author.

DOI: <https://doi.org/10.29020/nybg.ejpam.v17i3.5275>

Email addresses: [ugug11@naver.com](mailto:ugug11@naver.com) (S. H. Lee),

[chenli\\_0928@xaufe.edu.cn](mailto:chenli_0928@xaufe.edu.cn) (L. Chen), [ugug11@naver.com](mailto:ugug11@naver.com) (W. Kim)

When  $k = 1$ , we note that

$$e_1(x) = \sum_{n=1}^{\infty} \frac{x^n}{n!} = e^x - 1. \quad (4)$$

As we all know, the poly-Bernoulli polynomials are defined by Kaneko. It is given by

$$\frac{Li_k(1 - e^{-t})}{1 - e^{-t}} e^{xt} = \sum_{n=0}^{\infty} PB_n^{(k)}(x) \frac{t^n}{n!}, \quad (\text{see}[5]). \quad (5)$$

When  $x = 0$ , we note that  $PB_n^{(k)} = PB_n^{(k)}(0)$  are called the poly-Bernoulli numbers.

In 2019, Kim considered the definition of type 2 poly-Bernoulli polynomials. It is given by

$$\frac{e_k(\log(1+t))}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} \beta_n^{(k)}(x) \frac{t^n}{n!}, \quad (\text{see}[6, 22]). \quad (6)$$

When  $x = 0$ , we note that  $\beta_n^{(k)} = \beta_n^{(k)}(0)$  are called the type 2 poly-Bernoulli numbers. Kim also studied the unipoly function attached to  $p$ . Its definition as follows.

$$u_k(x|p) = \sum_{n=1}^{\infty} \frac{p(n)}{n^k} x^n, \quad (k \in \mathbb{Z}), \quad (\text{see}[6]). \quad (7)$$

Later, he defined the unipoly-Bernoulli polynomials attached to  $p$  by

$$\frac{1}{1 - e^{-t}} u_k(1 - e^{-t}|p) e^{xt} = \sum_{n=0}^{\infty} B_{n,p}^{(k)}(x) \frac{t^n}{n!}, \quad (\text{see}[6]). \quad (8)$$

Recently, Kim studied the probabilistic poly-Bernoulli polynomials associated with  $Y$ . Assume that  $Y$  is a random variable such that the moment generating function of  $Y$  given by

$$E[e^{Yt}] = \sum_{n=0}^{\infty} E[Y^n] \frac{t^n}{n!}, \quad (|t| < r), \quad ([6, 14, 16]). \quad (9)$$

exist for some  $r \geq 0$ . Then the definition of the probabilistic poly-Bernoulli polynomials are given by

$$\frac{Li_k(1 - e^{-t})}{1 - E[e^{-Yt}]} (E[e^{-Yt}])^x = \sum_{n=0}^{\infty} B_n^{(k,Y)}(x) \frac{t^n}{n!}, \quad (\text{see}[3, 8, 9, 18, 31, 32]). \quad (10)$$

When  $k = 1$ , it is obvious that  $B_n^{(1,Y)} = (-1)^n B_n^Y(x)$ . This type of polynomials is a new extension. Inspired by this, the aim of our paper is to explore the probabilistic type 2 poly-Bernoulli polynomials and obtain some new results. Meanwhile, the probabilistic unipoly-Bernoulli polynomials are also another research.

The Stirling number of the first kind are defined by

$$(x)_n = \sum_{k=0}^n S_1(n, k)x^k, \quad (\text{see}[10, 28, 29]). \quad (11)$$

Where  $(x)_0 = 1, (x)_n = x(x-1) \cdots (x-n+1), (n \geq 1)$ .

From (11), we can easily know

$$\frac{1}{k!}(\log(1+t))^k = \sum_{n=k}^{\infty} S_1(n, k) \frac{t^n}{n!}, \quad (\text{see}[10, 11, 29]). \quad (12)$$

The Stirling number of the second kind are defined by

$$x^n = \sum_{k=0}^n S_2(n, k)(x)_k, \quad (\text{see}[17, 21, 26]). \quad (13)$$

From (13), we also derive the generating function as follows.

$$\frac{1}{k!}(e^t - 1)^k = \sum_{n=k}^{\infty} S_2(n, k) \frac{t^n}{n!}, \quad (\text{see}[21, 26]). \quad (14)$$

In 2024, Kim defined the probabilistic Stirling number of the second kind associated with  $Y$  are given by

$$\frac{1}{k!}(E[e^{Yt}] - 1)^k = \sum_{n=k}^{\infty} \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_Y \frac{t^n}{n!}, \quad (\text{see}[3, 9, 18], [14]). \quad (15)$$

The Bell polynomials are defined by

$$e^{x(e^t-1)} = \sum_{n=0}^{\infty} Bel_n(x) \frac{t^n}{n!}, \quad (\text{see}[13, 16, 22, 23, 25]). \quad (16)$$

## 2. probabilistic type 2 poly-Bernoulli polynomials

Let  $(Y_j)_{j \geq 1}$  be a sequence of mutually independent copies of the random variable  $Y$ , and let

$$S_0 = 0, S_k = Y_1 + Y_2 + \cdots + Y_k, (k \in \mathbb{N}). \quad (17)$$

In this section we consider probabilistic type 2 poly-Bernoulli polynomials.

$$\frac{e_k(\log(1+t))}{E[e^{Yt}] - 1} (E[e^{Yt}])^x = \sum_{n=0}^{\infty} \beta_n^{(k,Y)}(x) \frac{t^n}{n!}. \quad (18)$$

When  $x = 0$ ,  $\beta_n^{(k,Y)}(0) = \beta_n^{(k,Y)}$  are called probabilistic type 2 poly-Bernoulli numbers. From (18), we get

$$\begin{aligned} \sum_{n=0}^{\infty} \beta_n^{(k,Y)}(x) \frac{t^n}{n!} &= \frac{e_k(\log(1+t))}{E[e^{Yt}] - 1} (E[e^{Yt}])^x \\ &= \sum_{j=0}^{\infty} \beta_j^{(k,Y)} \frac{t^j}{j!} \sum_{k=0}^{\infty} \binom{x}{k} k! \sum_{m=k}^{\infty} \left\{ \begin{matrix} m \\ k \end{matrix} \right\}_Y \frac{t^m}{m!} \\ &= \sum_{n=0}^{\infty} \sum_{m=0}^n \sum_{k=0}^m \binom{n}{m} \beta_{n-m}^{(k,Y)}(x) k \left\{ \begin{matrix} m \\ k \end{matrix} \right\}_Y \frac{t^n}{n!}. \end{aligned} \tag{19}$$

Therefore, by comparing the coefficients on both sides of (19), we have the following theorem.

**Theorem 1.** For  $n, k \geq 0$ , we have

$$\beta_n^{(k,Y)} = \sum_{m=0}^n \sum_{k=0}^m \binom{n}{m} \beta_{n-m}^{(k,Y)}(x) k \left\{ \begin{matrix} m \\ k \end{matrix} \right\}_Y.$$

From (18), we have

$$\begin{aligned} \sum_{n=0}^{\infty} \beta_n^{(k,Y)}(x) \frac{t^n}{n!} &= \frac{e_k(\log(1+t))}{t} \frac{t}{E[e^{Yt}] - 1} (E[e^{Yt}])^x \\ &= \sum_{l=0}^{\infty} B_l^Y(x) \frac{t^l}{l!} \sum_{i=1}^{\infty} \frac{(\log(1+t))^i}{(i-1)! i^k} \\ &= \sum_{l=0}^{\infty} B_l^Y(x) \frac{t^l}{l!} \frac{1}{t} \sum_{i=1}^{\infty} \frac{1}{i^{k-1}} \sum_{j=i}^{\infty} S_1(j, i) \frac{t^j}{j!} \\ &= \sum_{l=0}^{\infty} B_l^Y(x) \frac{t^l}{l!} \sum_{j=0}^{\infty} \sum_{i=1}^{j+1} \frac{1}{i^{k-1}} \frac{S_1(j+1, i)}{j+1} \frac{t^j}{j!} \\ &= \sum_{n=0}^{\infty} \left( \sum_{j=0}^n \sum_{i=1}^{j+1} \binom{n}{j} \frac{S_1(j+1, i)}{i^{k-1}(j+1)} B_{n-j}^Y(x) \right) \frac{t^n}{n!}. \end{aligned} \tag{20}$$

Thus, by comparing the coefficients on both sides of (20), we have the following theorem.

**Theorem 2.** For  $n, j \geq 0$ , we have

$$\beta_n^{(k,Y)}(x) = \sum_{j=0}^n \sum_{i=1}^{j+1} \binom{n}{j} \frac{S_1(j+1, i)}{i^{k-1}(j+1)} B_{n-j}^Y(x).$$

Now, we observe that

$$\sum_{m=0}^n (E[e^{Yt}])^m = \frac{E[e^{Yt}]^{n+1} - 1}{E[e^{Yt}] - 1}. \quad (21)$$

From (21), we have

$$\begin{aligned} \sum_{m=0}^n E[e^{Yt}]^m &= \frac{1}{e_1(\log(1+t))} \frac{e_1(\log(1+t))}{E[e^{Yt}] - 1} (E[e^{Yt}]^{n+1} - 1) \\ &= \frac{1}{t} \frac{t}{E[E^{Yt}] - 1} (E[e^{Yt}]^{n+1} - 1) \\ &= \frac{1}{t} \left( \sum_{l=0}^{\infty} \beta_l^{(1,Y)} - \sum_{l=0}^{\infty} \beta_l^{(1,Y)} \frac{t^l}{l!} \right) \\ &= \sum_{l=0}^{\infty} \frac{\beta_{l+1}^{(1,Y)}(n+1) - \beta_{l+1}^{(1,Y)} t^l}{l+1} \frac{t^l}{l!}. \end{aligned} \quad (22)$$

On the other hand,

$$\begin{aligned} \sum_{m=0}^n (E[e^{Yt}])^m &= \sum_{m=0}^n E[e^{(Y_1+Y_2+\dots+Y_m)t}] \\ &= \sum_{m=0}^n \sum_{l=0}^{\infty} E[S_m^l] \frac{t^l}{l!} \\ &= \sum_{l=0}^{\infty} \sum_{m=0}^n E[S_m^l] \frac{t^l}{l!}. \end{aligned} \quad (23)$$

Hence, comparing the coefficients on both sides of (22) and (23), we have the following theorem.

**Theorem 3.** For  $n \geq 0$ , we have

$$\sum_{m=0}^n E[S_m] = \frac{\beta_{l+1}^{(1,Y)}(n+1) - \beta_{l+1}^{(1,Y)}}{l+1}.$$

From (3), we have

$$\begin{aligned} e_m(\log(1+t)) &= \sum_{k=1}^{\infty} \frac{(\log(1+t))^k}{(k-1)!k^m} \\ &= \sum_{k=0}^{\infty} \frac{(\log(1+t))^{k+1}}{k!(k+1)^m} \end{aligned} \quad (24)$$

$$\begin{aligned}
&= \sum_{k=0}^{\infty} \frac{1}{(k+1)^{m-1}} \sum_{n=k+1}^{\infty} S_1(n, k+1) \frac{t^n}{n!} \\
&= \sum_{n=k+1}^{\infty} \sum_{k=0}^{n-1} \frac{S_1(n, k+1) t^n}{(k+1)^{m-1} n!}.
\end{aligned}$$

On the other hand,

$$\begin{aligned}
e_m(\log(1+t)) &= \sum_{l=0}^{\infty} \beta_l^{(m,Y)} \frac{t^l}{l!} (E[e^{Yt} - 1]) \tag{25} \\
&= \sum_{l=0}^{\infty} \beta_l^{(m,Y)} \frac{t^l}{l!} \left( \sum_{j=0}^{\infty} E[Y^j] \frac{t^j}{j!} - 1 \right) \\
&= \sum_{n=0}^{\infty} \left( \sum_{l=0}^n \binom{n}{l} \beta_l^{(m,Y)} E[Y^{n-l}] - \beta_n^{(m,Y)} \right) \frac{t^n}{n!}.
\end{aligned}$$

Therefore, by comparing the coefficients on both sides of (24) and (25), we have the following theorem.

**Theorem 4.** For  $n, k \geq 0$ , we have

$$\sum_{k=0}^{n-1} \frac{S_1(n, k+1)}{(k+1)^{m-1}} = \begin{cases} \sum_{l=0}^n \binom{n}{l} \beta_l^{(m,Y)} E[Y^{n-l}] - \beta_n^{(m,Y)}, & \text{if } n \geq k+1, \\ 0, & \text{if } n < k+1. \end{cases}$$

Let  $Y$  be the Poisson random variable with parameter  $\alpha > 0$ , then we have

$$\begin{aligned}
\frac{e_k(\log(1+t))}{E[e^{Yt}] - 1} (E[e^{Yt}])^x &= \frac{e_k(\log(1+t))}{e^{\alpha(e^t-1)} - 1} e^{\alpha x(e^t-1)} \tag{26} \\
&= \frac{\alpha(e^t-1)}{\alpha(e^t-1)} \frac{e_k(\log(1+t))}{e^{\alpha(e^t-1)} - 1} e^{\alpha x(e^t-1)} \\
&= \frac{1}{\alpha} \sum_{j=0}^{\infty} \beta_j^{(k)} \frac{t^j}{j!} \frac{\alpha(e^t-1)}{e^{\alpha(e^t-1)} - 1} e^{\alpha x(e^t-1)} \\
&= \frac{1}{\alpha} \sum_{j=0}^{\infty} \beta_j^{(k)} \frac{t^j}{j!} \sum_{l=0}^{\infty} \alpha^l B_l(x) \frac{(e^t-1)^l}{l!} \\
&= \sum_{j=0}^{\infty} \beta_j^{(k)} \frac{t^j}{j!} \sum_{m=0}^{\infty} \sum_{l=0}^m \alpha^{l-1} B_l(x) S_2(m, l) \frac{t^m}{m!} \\
&= \sum_{n=0}^{\infty} \sum_{m=0}^n \sum_{l=0}^m \binom{n}{m} \beta_{n-m}^{(k)} \alpha^{l-1} B_l(x) S_2(m, l) \frac{t^n}{m!}.
\end{aligned}$$

From (18) and (26), we have the following theorem.

**Theorem 5.** *Let  $Y$  be the Poisson random variable with parameter  $\alpha$ , we have*

$$\beta_n^{(k,Y)}(x) = \sum_{m=0}^n \sum_{l=0}^m \binom{n}{m} \beta_{n-m}^{(k)} \alpha^{l-1} B_l(x) S_2(m, l).$$

From (18), we have

$$\begin{aligned} \sum_{n=0}^{\infty} B_n^{(k,Y)}(\alpha+1) &= \frac{e_k(\log(1+t))}{E[e^{Yt}] - 1} (E[e^{Yt}])^\alpha E[e^{Yt}] \\ &= \sum_{l=0}^{\infty} B_l^{(k,Y)}(\alpha) \frac{t^l}{l!} \sum_{m=0}^{\infty} E[Y^m] \frac{t^m}{m!} \\ &= \sum_{n=0}^{\infty} \sum_{l=0}^n \binom{n}{l} B_l^{(k,Y)}(\alpha) E[Y^{n-l}] \frac{t^n}{n!}. \end{aligned} \quad (27)$$

From (18), we also have

$$\begin{aligned} \sum_{n=0}^{\infty} B_n^{(k,Y)}(\alpha) \frac{t^n}{n!} &= \sum_{n=0}^{\infty} B_n^Y \frac{t^n}{n!} E[e^{(Y_1+Y_2+\dots+Y_\alpha)t}] \\ &= \sum_{l=0}^{\infty} B_l^{(k,Y)} \frac{t^n}{n!} \sum_{m=0}^{\infty} E[S_\alpha^m] \frac{t^m}{m!} \\ &= \sum_{n=0}^{\infty} \sum_{l=0}^n \binom{n}{l} B_l^{(k,Y)} E[S_\alpha^m] \frac{t^n}{n!}. \end{aligned} \quad (28)$$

Therefore, by (27) and (28), we have the following theorem.

**Theorem 6.** *For any  $\alpha \in \mathbb{Z}$  and  $n, \alpha \geq 0$ , we have*

$$B_n^{(k,Y)}(\alpha+1) - B_n^{(k,Y)}(\alpha) = \sum_{l=0}^n \binom{n}{l} \left( B_l^{(k,Y)}(\alpha) E[Y^{n-l}] - B_l^{(k,Y)} E[S_\alpha^m] \right).$$

### 3. The probabilistic unipoly-Bernoulli polynomials

In this section, we give the definition of the probabilistic unipoly-Bernoulli polynomials attached to  $p$  as follows.

$$\frac{1}{1 - E[e^{-Yt}]} u_k(1 - e^{-t}|p)(E[e^{-Yt}])^x = \sum_{n=0}^{\infty} B_{n,p}^{(k,Y)}(x) \frac{t^n}{n!}. \quad (29)$$

If  $x = 0$ ,  $B_{n,p}^{(k,Y)} = B_{n,p}^{(k,Y)}(0)$  are called the probabilistic unipoly-Bernoulli numbers.

Particularly, if  $p(n) = 1$ , then  $B_{n,1}^{(k,Y)} = B_n^{(k,Y)}(x)$ .

From (29)

$$\begin{aligned} \frac{1}{1 - E[e^{-Yt}]} u_k(1 - e^{-t}|p) &= \frac{1}{1 - E[e^{-Yt}]} \sum_{m=1}^{\infty} \frac{P(m)(1 - e^{-t})^m}{m^k} \tag{30} \\ &= \frac{t}{1 - E[e^{-Yt}]} \frac{1}{t} \sum_{m=1}^{\infty} \frac{p(m)}{m^k} \frac{(1 - e^{-t})^m}{m!} m! \\ &= \sum_{j=0}^{\infty} B_j^Y (-1)^j \frac{t^j}{j!} \frac{1}{t} \sum_{m=1}^{\infty} \frac{p(m)m!}{m^k} \sum_{l=m}^{\infty} S_2(l, m) (-1)^{l-m} \frac{t^l}{l!} \\ &= \sum_{j=0}^{\infty} B_j^Y (-1)^j \frac{t^j}{j!} \sum_{l=0}^{\infty} \sum_{m=1}^{l+1} \frac{p(m)m!}{m^k} \frac{S_2(l+1, m) (-1)^{l+1-m} t^l}{l+1} \frac{1}{l!} \\ &= \sum_{n=0}^{\infty} \sum_{l=0}^n \sum_{m=1}^{l+1} \binom{n}{l} \frac{p(m)(m-1)!}{m^{k-1}} (-1)^{n-m+1} \frac{S_2(l+1, m)}{l+1} B_{n-l}^Y \frac{t^n}{n!}. \end{aligned}$$

Therefore, by compring the coefficients on both sides of (29) and (30), we have the following theorem.

**Theorem 7.** For  $n, k \geq 0$ , we have

$$B_{n,p}^{(k,Y)} = \sum_{l=0}^n \sum_{m=1}^{l+1} \binom{n}{l} \frac{p(m)(m-1)!}{m^{k-1}} (-1)^{n-m+1} \frac{S_2(l+1, m)}{l+1} B_{n-l}^Y.$$

Let  $Y$  be the Poisson random variable with parameter  $\alpha > 0$ . Then we have

$$\begin{aligned} u_k(1 - e^{-t}|p) e^{x\alpha(e^t-1)} &= \sum_{n=0}^{\infty} B_{n,p}^{(k,Y)}(x) \frac{t^n}{n!} (1 - e^{\alpha(e^{-t}-1)}) \tag{31} \\ &= \sum_{n=0}^{\infty} B_{n,p}^{(k,Y)}(x) \frac{t^n}{n!} - \sum_{m=0}^{\infty} B_m^{(k,Y)}(x) \frac{t^m}{m!} \sum_{l=0}^{\infty} \frac{\alpha^l (e^{-t} - 1)^l}{l!} \\ &= \sum_{n=0}^{\infty} B_{n,p}^{(k,Y)}(x) \frac{t^n}{n!} - \sum_{m=0}^{\infty} B_m^{(k,Y)}(x) \frac{t^m}{m!} \sum_{l=0}^{\infty} \alpha^l \sum_{i=l}^{\infty} S_2(i, l) (-1)^i \frac{t^i}{i!} \\ &= \sum_{n=0}^{\infty} B_{n,p}^{(k,Y)}(x) \frac{t^n}{n!} - \sum_{n=0}^{\infty} \sum_{i=0}^n \sum_{l=0}^i \binom{n}{i} (-1)^i \alpha^l S_2(i, l) B_{n-i}^{(k,Y)}(x) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left( B_{n,p}^{(k,Y)}(x) - \sum_{i=0}^n \sum_{l=0}^i \binom{n}{i} (-1)^i \alpha^l S_2(i, l) B_{n-i}^{(k,Y)}(x) \right) \frac{t^n}{n!}. \end{aligned}$$



On the other hand

$$\begin{aligned}
 u_k(1 - e^{-t}|p)e^{x\alpha(e^t-1)} &= \sum_{m=1}^{\infty} \frac{p(m)}{m^k} (1 - e^{-t})^m \sum_{i=0}^{\infty} Bel_i(x) \frac{\alpha^i (e^{-t} - 1)^i}{i!} \\
 &= \sum_{j=1}^{\infty} \sum_{i=0}^j \frac{p(j-i)}{(j-i)^k} Bel_i(x) \frac{\alpha^i}{i!} (-1)^{j-i} \frac{(e^{-t} - 1)^j}{j!} j! \\
 &= \sum_{j=1}^{\infty} \sum_{i=0}^j \frac{p(j-i)}{(j-i)^k} Bel_i(x) \frac{\alpha^i j!}{i!} (-1)^{j-i} \sum_{n=j}^{\infty} S_2(n, j) (-1)^n \frac{t^n}{n!} \\
 &= \sum_{n=1}^{\infty} \sum_{j=1}^n \sum_{i=0}^j \frac{p(j-i)}{(j-i)^k} Bel_i(x) \frac{\alpha^i j!}{i!} (-1)^{j-i+n} S_2(n, j) \frac{t^n}{n!}.
 \end{aligned} \tag{32}$$

Therefore, by comparing the coefficients on both sides of (31) and (32), we have the following theorem.

**Theorem 8.** *Let  $Y$  be the Poisson random variable with parameter  $\alpha (> 0)$ . Then we have*

$$B_{n,p}^{(k,Y)}(x) = \sum_{j=1}^n \sum_{i=0}^j \frac{p(j-i)}{(j-i)^k} Bel_i(x) \frac{\alpha^i j!}{i!} (-1)^{j-i+n} S_2(n, j) + \sum_{i=0}^n \sum_{l=0}^i \binom{n}{i} (-1)^i \alpha^l S_2(i, l) B_{n-i}^{(k,Y)}(x).$$

From (29), we have

$$\begin{aligned}
 \sum_{n=0}^{\infty} B_{n,p}^{(k,Y)}(\alpha) \frac{t^n}{n!} &= \sum_{n=0}^{\infty} B_{l,p}^{(k,Y)} \frac{t^l}{l!} (E[e^{-Yt}])^\alpha \\
 &= \sum_{l=0}^{\infty} B_{l,p}^{(k,Y)} \frac{t^l}{l!} \sum_{m=0}^{\infty} (-1)^m E[Y_1 + Y_2 + \dots + Y_\alpha] \frac{t^m}{m!} \\
 &= \sum_{n=0}^{\infty} \sum_{m=0}^n (-1)^m \binom{n}{m} B_{n-m,p}^{(k,Y)} E[S_\alpha^m] \frac{t^n}{n!}.
 \end{aligned} \tag{33}$$

Therefore, by comparing the coefficients on both sides of (33), we have the following theorem.

**Theorem 9.** *For  $\alpha, n \geq 0$  and  $\alpha \in \mathbb{Z}$ , we have*

$$B_{n,p}^{(k,Y)}(\alpha) = \sum_{m=0}^n (-1)^m \binom{n}{m} B_{n-m,p}^{(k,Y)} E[S_\alpha^m].$$

Let  $Y$  be the Bernoulli random variable with probability of success  $A$ . Then we have

$$\sum_{n=0}^{\infty} B_{n,p}^{(k,Y)}(x) \frac{t^n}{n!} = \frac{1}{A(e^{-t} - 1)} u_k(1 - e^{-t}|p) (A(e^{-t} - 1) + 1)^x \tag{34}$$

$$\begin{aligned}
 &= \frac{1}{A(e^{-t} - 1)} \sum_{l=1}^{\infty} \frac{p(l)}{l^k} (1 - e^{-t})^l \sum_{m=0}^{\infty} \binom{x}{m} A^m (e^{-t} - 1)^m \\
 &= \frac{1}{A(e^{-t} - 1)} \sum_{i=1}^{\infty} \sum_{l=1}^i \frac{p(l)}{l^k} \binom{x}{i-l} A^{i-l} (e^{-t} - 1)^i \\
 &= \sum_{i=1}^{\infty} \sum_{l=1}^i (-1)^l \frac{p(l)}{l^k} \binom{x}{i-l} A^{i-l-1} (e^{-t} - 1)^{i-1} \\
 &= \sum_{i=0}^{\infty} \sum_{l=1}^{i+1} (-1)^l \frac{p(l)}{l^k} \binom{x}{i-l+1} A^{i-l} (e^{-t} - 1)^i \\
 &= \sum_{i=0}^{\infty} \sum_{l=1}^{i+1} (-1)^l \frac{p(l)}{l^k} i! \binom{x}{i-l+1} A^{i-l} \sum_{n=i}^{\infty} (-1)^n S_2(n, i) \frac{t^n}{n!} \\
 &= \sum_{n=0}^{\infty} \sum_{i=0}^n \sum_{l=1}^{i+1} (-1)^{l+n} \frac{p(l)}{l^k} (i)_{l-1} (x)_{i-l} A^{i-l} S_2(n, i) \frac{t^n}{n!}.
 \end{aligned}$$

Therefore, by compring the coefficients on both sides of (34), we have the following theorem.

**Theorem 10.** *Let  $Y$  be the Bernoulli random variable with probability of success  $A$ , then we have*

$$B_{n,p}^{(k,Y)}(x) = \sum_{i=0}^n \sum_{l=1}^{i+1} (-1)^{l+n} \frac{p(l)}{l^k} (i)_{l-1} (x)_{i-l} A^{i-l} S_2(n, i).$$

### 4. Conclusion

In this paper, we present a probabilistic version of the type 2 poly-Bernoulli polynomials associated with a random variable  $Y$  satisfying suitable moment conditions. We call it probabilistic type 2 poly-Bernoulli polynomials. We study some properties of such polynomials and obtain relevant results. More specifically, we derived an exact expression for  $\beta_n^{k,Y}(x)$ , and establish a relation between the type 2 poly-Bernoulli numbers and the Stirling number of the first kind, and obtain an explicit formula of  $\beta_n^{(k,Y)}(x)$ , In the case where  $Y$  is the Poisson variable with parameter  $\alpha$ . Similarly, we define the unipoly-Bernoulli polynomials attached to  $p$ . Then we show the explicit expression of  $B_{n,p}^{k,Y}(x)$  and other results by skilful calculations. As a next step in our research, we will study this probability type of polynomials more deeply so that give better and generalizable results.

### References

[1] L Carlitz. Some polynomials related to the bernoulli and euler polynomials. *Utilitas Math*, 19:81–127, 1981.

- [2] L Catlitz. Degenerate stirling, bernoulli and eulerian numbers. *Util. Math*, 15:51–88, 1979.
- [3] Li Chen, Dmitry V Dolgy, Taekyun Kim, Dae San Kim, and Kwangwoon Global Education Center. Probabilistic type 2 bernoulli and euler polynomials. *AIMS Mathematics*, 9(6):14312–14324, 2024.
- [4] MSP Eastham. On polylogarithms. *Glasgow Mathematical Journal*, 6(4):169–171, 1964.
- [5] Masanobu Kaneko. Poly-bernoulli numbers. *Journal de théorie des nombres de Bordeaux*, 9(1):221–228, 1997.
- [6] DS Kim and T Kim. A note on polyexponential and unipoly functions. *Russian Journal of Mathematical Physics*, 26:40–49, 2019.
- [7] DS Kim and T Kim. A note on a new type of degenerate bernoulli numbers. *Russian Journal of Mathematical Physics*, 27:227–235, 2020.
- [8] T Kim and DS Kim. Probabilistic degenerate bell polynomials associated with random variables. *Russian Journal of Mathematical Physics*, 30(4):528–542, 2023.
- [9] T Kim and DS Kim. Probabilistic bernoulli and euler polynomials. *Russian Journal of Mathematical Physics*, 31(1):94–105, 2024.
- [10] Taekyun Kim and Dae San Kim. Degenerate laplace transform and degenerate gamma function. *Russian Journal of Mathematical Physics*, 24:241–248, 2017.
- [11] Taekyun Kim and Dae San Kim. Identities for degenerate bernoulli polynomials and korobov polynomials of the first kind. *Science China Mathematics*, 62:999–1028, 2019.
- [12] Taekyun Kim and Dae San Kim. Representation by degenerate frobenius–euler polynomials. *Georgian Mathematical Journal*, 29(5):741–754, 2022.
- [13] Taekyun Kim and Dae San Kim. Some results on degenerate fubini and degenerate bell polynomials. *Applicable Analysis and Discrete Mathematics*, 17(2):548–560, 2023.
- [14] Taekyun Kim and Dae San Kim. Generalization of spivey’s recurrence relation. *Russian Journal of Mathematical Physics*, 31(2):218–226, 2024.
- [15] Taekyun Kim, Dae San Kim, and Hye Kyung Kim. Some identities involving bernoulli, euler and degenerate bernoulli numbers and their applications. *Applied Mathematics in Science and Engineering*, 31(1):2220873, 2023.
- [16] Taekyun Kim, Dae San Kim, and Hye Kyung Kim. Study on discrete degenerate bell distributions with two parameters. *Georgian Mathematical Journal*, 31(3):445–451, 2024.

- [17] Taekyun Kim, Dae San Kim, and Hyekyung Kim. Study on r-truncated degenerate stirling numbers of the second kind. *Open Mathematics*, 20(1):1685–1695, 2022.
- [18] Taekyun Kim, Dae San Kim, and Jongkyum Kwon. Probabilistic degenerate stirling polynomials of the second kind and their applications. *Mathematical and Computer Modelling of Dynamical Systems*, 30(1):16–30, 2024.
- [19] Taekyun Kim, Dae San Kim, Hyunseok Lee, and Jongkyum Kwon. Representations by degenerate daehee polynomials. *Open Mathematics*, 20(1):179–194, 2022.
- [20] Taekyun Kim, Dae San Kim, and Jin-Woo Park. Fully degenerate bernoulli numbers and polynomials. *Demonstratio Mathematica*, 55(1):604–614, 2022.
- [21] Taekyun Kim, DS Kim, GW Jang, and Jongkyum Kwon. Fourier series of sums of products of higher-order euler functions. *J. Comput. Anal. Appl*, 27(2):345–360, 2019.
- [22] Taekyun Kim and Hye Kyung Kim. Degenerate poly-lah-bell polynomials and numbers. *Journal of Mathematics*, 2022(1):2917943, 2022.
- [23] Taekyun Kim, Dae San Kim, Dmitry V Dolgy, Hye Kyung Kim, and Hyunseok Lee. A new approach to bell and poly-bell numbers and polynomials. *AIMS Math*, 7(3):4004–4016, 2022.
- [24] Taekyun Kim, Dae San Kim, Gwan-Woo Jang, and Jongkyum Kwon. Fourier series of sums of product of poly-bernoulli and euler functions and their applications. *Journal of Computational Analysis & Applications*, 26(1), 2019.
- [25] Taekyun Kim, Dae San Kim, and Jongkyum Kwon. Some identities related to degenerate r-bell and degenerate fubini polynomials. *Applied Mathematics in Science and Engineering*, 31(1):2205642, 2023.
- [26] TK Kim and Dae San Kim. Some identities involving degenerate stirling numbers associated with several degenerate polynomials and numbers. *Russian Journal of Mathematical Physics*, 30(1):62–75, 2023.
- [27] BF Kimball. A generalization of the bernoulli polynomial of order one. 1935.
- [28] Lingling Luo, Taekyun Kim, Dae San Kim, and Yuankui Ma. Probabilistic degenerate bernoulli and degenerate euler polynomials. *Mathematical and Computer Modelling of Dynamical Systems*, 30(1):342–363, 2024.
- [29] Steven Roman. The umbral calculus, volume 111 of pure and applied mathematics, 1984.
- [30] Katsumi Shiratani. Kummer’s congruence for generalized bernoulli numbers and its application. *Memoirs of the Faculty of Science, Kyushu University. Series A, Mathematics*, 26(1):119–138, 1972.

- [31] Bao Quoc Ta. Probabilistic approach to appell polynomials. *Expositiones Mathematicae*, 33(3):269–294, 2015.
- [32] Henry Teicher. An inequality on poisson probabilities. *The Annals of Mathematical Statistics*, 26(1):147–149, 1955.